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1. Biore Company’s accounting records indicated the following information:

Inventory, 1/1/2014 $ 500,000
Purchases during 2014 3,000,000
Sales during 2014 3,700,000

A physical inventory taken on December 31, 2014, resulted in an ending inventory of
$525,000. Biore’s gross profit on cost has remained constant at 25% in recent years. Biore

suspects some inventory may have been taken by a new employee. At December 31, 2014,
what is the estimated cost of missing inventory?

(A)$15,000 (B)$175,000 (C)$200,000 (D)$185,000.

2. Per IAS 2, when allocating costs to inventory produced for the period, fixed and variable
overhead costs should be based upon

Variable overhead Fixed Overhead
(A) Actual production  Actual production
(B) Normal capacity The highest production level
© Actual production Normal capacity
D) Normal capacity The lowest production level

3. In January 2014, Philips Company purchased a mineral mine for $2,640,000 with
removable ore estimated at 1,200,000 tons. After it has extracted all the ore, Philips will
be required by law to restore the land to its original condition at an estimated cost of
$220,000. The present value of the estimated restoration costs is $180,000. Philips
believes it will be able to sell the property afterwards for $300,000. During 2014, Philips
incurred $360,000 of development costs preparing the mine for production and removed

and sold 60,000 tons of ore. In its 2014 income statement, what amount should Philips
report as depletion?

(A) $135,000 (B) $144,000 (C) $150,000 (D) $159,000.
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4. On February 1, 2014, Clinique Corporation purchased a parcel of land as a factory site

for ‘5200 000. An old building on the property was demolished, and construction began
on a new building which was completed on November 1, 2014. Costs incurred during
this period are listed below:

Demolition of old building $20,000
Architect's fees 35,000
Legal fees for title investigation and purchase contract 5,000
Construction costs 1,090,000

(Salvaged materials resulting from demolition were sold for $10,000)
Clinique should record the cost of the land and new building, respectively, as

(A) $225,000 and $1,115,000 (B) $210,000 and $1,130,000 (C) $210,000 and
$1,125,000 (D) $215,000 and $1,125,000.

5. Roland Company acquired an equipment on January 1, 2011 for $7,500,000 and had an

estimated useful life of 5 years with residual value of $1,250,000. At December 31,
2012, Roland tested the equipment for impairment and recorded an impairment loss of
$450,000. At December 31, 2013, Roland determines that the value-in-use of the
equipment is now $3,600,000, its fair value is $4,200,000 and cost to sell is $200,000.
Roland uses straight-line depreciation. What amount should Roland report as the
recovery of impairment loss at December 31, 20132

(A)100,000 (B)160,000 (C)25,000 (D)300,000.
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4. ~ The following section of the statement of financial position of Biotherm Company
related to the capital structure.

Biotherm Company
Statement of Financial Position (Partial)
December 31, 2013

Equiry
12% cumulative, convertible preference shares, par value $100; 100,000
shares authorized, 30,000 shares issued and outstanding $3,000,000
Share capital- ordinary, par value $1, 5,000,000 shares authorized,
500,000 shares issued and outstanding 500,000
Share premium 2,000,000
Retained earnings 9,000,000
Total Equity $14.500,000
Long-Term Debts ,
Notes Payable, 14% $1,000,000
Convertible bonds payable (Issue A) A 2,500,000
Convertible bonds payable (Issue B) 2.500.000
Total Long-Term Debts $6,000,000

Additional information:

1. Options were granted in July 2011 to purchase 50,000 ordinary shares at $20 per
share. The average market value of W’s ordinary shares during 2013 was $40 per
share. All options are still outstanding at the end of 2013.

2. Both convertible bonds were issued in 2012, and each is convertible into 40 shares of
ordinéry shares (Each has face value of $1,000). In 2013, interest expense of
$200,000 on the liability component of convertible bonds (Issue A) is recorded, and
interest expense of $250,000 is record on the liability component of convertible

bonds (Issue B).

3. The 12% cumulative, convertible preference shares were issued at the beginning of
2013 at par. Each preference share is convertible into 4 ordinary shares.

4. The average income tax rate is 40%.

5. The 500,000 ordinary shares are outstanding during the entire year.

6

. Preference dividends were not declared in 2013.
7. Net income for the year is $1,750,000.
8. No bonds or preference shares were converted during 2013.

Required: (Rounded to 2 decimal piaces) (16%)
1. Compute the per share effect for each potentially dilutive security.
2. Compute the basic EPS and diluted EPS for 2013.




